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1°. & ¥ X
EBPTHESER:
singcos (b — a) + cosasin (b~ g) =sinb.
cos(a+b) +sin(a—-0)
= (cosa + sing) (cosb - sinbd) .

sin(a+ b)sin(a—b)

tg"e - tg*b = cos?acos®hb

sin(a—b) sin(b—c¢) sin(c—a)
——— =
cosacosb cosbcose cosccosa

sin(@a—b) sin(b—¢)  sin(c—a) _
sinagsinb sinbsine sinesing

sin(a+ b)sin(a—b) = sin2g - sin%b

= cos?b — cos’a.

sin(a+b)sin(a—b) +sin (b+e)sin(b-¢)

+sin(c+a)sin(c—a)= 0.

sin(a+ b)sin(a—b) +sin(b—-c)sin(b+¢c)

+sin(c+d)sin(c—d) +sin(d + a)sin(d —a) =0,
sin?(a+ b) = cos’a + cos®b— 2cosgcosbeos(a+ b)
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15.

160'

17.

18.

19.

20.

21.
22.
23.

= sin2q + sin2b + 2sinasinbcos(a+ b).
sin(60° —a)cos(30° +a)
+cos(60°—a)sin(30°+a) =1,

2 2w 3
cos’a+ cosz(—gi +a ) + cos? (—3~— -a ) =5

t220° + tgd0° + J3 tg20°tgd0° = J3 .
sin’g —sin?b
te(a+bltee—b) = cos’a—sin®h *
tgla — tg?b
— 22 e —ip(a+b)tgla—b)tglatg?h.
ctg?a ctg?b—1 gla+bitgla—bitgate
tg(a—0) (1 +tgatgh) +tg(b—c) (1+ tgbtge)
+tg(c—a) (1+tgetga) =0,
cos(a—-b)cos(a+b) —sin(g—b)sin (a+b)
=cos2a.
1-2sin’s 1-tga
1+sin2a 1+ tga

. 1.
cosba —sinfa = cosZa( 1- 7511122& ).

. 1 .
cosbqg +sin®a = cos?2a + —4—5111220.
cos’2a —dcos’a+3 |, ,
z 5 =tgta.
cos“2a+ 4cos’a—1
(1+tga)? - 2tz2a
1 +tgla
tg2a+sec2a=1tg(45° +a).

T
cosz(j{—a )—sin2 (%—a ): sin2a .

=sin2a+ cosZa.
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36.
37.
38.

39.

40.

1+ cos2acos2b = 2sin®gsin2b + 2cos’acos®h,
cos?(a—b) —sin®(a+b) = cos2a cos2b.’
sin®(a+b) + cos*(a—b) =1+sin2a sin2b.
cos?(a+b) —sin%a = cosbcos(2a+b) .
2(sin®2a + sin®2b)

2 2 - =
tg2(a+b) +tg*(a~b) (cos2a + cos2b)? °

sin ki sinn sin 87 sin 2z
2 = - L
10 10 5 5
+ si sin 3w =0
BT T T R
—-tgatg2
cos3a - 9c0s2q—~1 = 1-—tgatg2a
cosa 1+ tgatg2e

singsin3a = sin®2¢ — sin’a.
cosacos3a = cos?2a — sin’a,
tg®2a — tela
tgatgda = —— 5 25
gate 1-tglatg®2a
sin3a+ sina

=ctga
cos’a — cos3a 8a.

4sina cos3a+ 4cos’a sinda= 3sinda.
32sin2g cos*a = 2+ cos2a — 2cosda — cosba,
sin6a = 2sina (16cos’e — 16cos’a + 3cosa) .
cosda = 8cos'a — 8cos’a + 1 = 8sin‘a — 8sin’a + 1.
tgda = 4tga(12— tgzaz .

1-6tga+tg'a

tga + 2tg2a + 4tgda + 8ctg8a = ctga.
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46.
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49,

2ty 2 2ctgs
g 5 ctg—-
sing = 2 . 2 =%2ﬁ.

28 24, @ a
1+tg 5 1+ctg D) tg2+ctg 2

1+ sing 1 a2
—— — t — .
1+ cosg 2(1+g2)
1
2

__cosa _cosa_ _ (—tg __)

1+ cosa

seca+t T a
secattga z(_+~).
seca - tga 4 2

L @ 2 @ . @ a
tgatg T+4tg —4—— 6 tgatg T —-4tg -4—+tga

=0,

cosacosbcose = %cos (@a+b+c¢)+ 4icos (b+c-a)
1 1
+71—cos (@+c-b) +zcos(a+b-c).
—_— . 1 o 1
J 3 sinacosh = —cos(60° —a+b) + 5 cos (a+b
&

~60°) —%cos(60° +a+b) —%cos 60°+a-0b),

4sinasin (60° ~a)sin (60° + @) =sin3aq.

1 1 3
cos'e = —cosdg + —cos2a + —,
7% 2 8
., 1 1 v
sin‘e = -=cosdg ~ —=cos2ag +

8 2 N



1.

52.

53.

54.
55.

56.
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58.
58.

60.

61.

62.

cos®a = —1—c0550 + icos3a + -s—cosa-
€ose = 36 16 g C0%0e

int —_cin s —_—— _
sin-a 1 Sinoa 1 sin3g + ) S111Q .

. 3 . 1.
sin®g cossa=é—251n20 - Eésmfm.

sing sin(b—¢) +sinb sin(c—-a)
+sine sin(a~b)= 0.
sing sinb sin(c ~d) + sinbsincsin(d — @)
+sinc sind sin(a=b) +sindsinasin(b—¢c) =0.
sin?2g cos’a - cos?2a sing=sing sin3a.
cos(a—b) —sin(a+b)
= 2sin (45° —a) cos (45° + b) .
sin50° sin24°(tgd0° +tg66°) +sin74° = 2cos16°.
sin (g +b)sin(b+ ¢) —sina sinc
=sinbsin(a+b+e).
sing + cosa + sinb + cosb

ea-b

e+ b).__

cos (45° -

=2 J2 cos

tga—b) +tgb—o) +tglc—a
=tga—-b)tgb-o)tglc-al),
1 — cos®a — cosb — cos?c + 2cosa cosb cosc

a+b+c b+c—asi a—-bh+c

=4sin 2 sin 2 n >

¢+ b-—-c

X sin -
2

5
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66.
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68.

63.
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71,

1 - cos?g ~ cos®h - cos?c — 2cosgcosbeose
a+ b+ ¢ b+c-—-a a—-b+ec

= 4008 CO0S ————— ¢OS
2 2 2

a
XCOS ™ .

4cosacosbcose + cos2a + cos2b + cos2e + 1

g a+b+cosb+c—acosa—b+c
= —_—
CcOs 2 ) 9

a+bH-c
X cos ———,
2

cos?(b—-¢) + cos?(c—a) +cos?(a—b)
=2cos(b—-c¢)cos(c—a)cos(a—b) +1.

2(sin*x + sin?x cos®x + cos*x)?~ (sin®x + cos®x)

(e .
sin3a sin3b
sin(c—a)sin(a—8)  sin(a-Bsinb-0)
sin3e¢

YD TICET) =4sin(a+b+¢) .

14 m
tg3a =tga tg(? + a tg(? -a ),

sinasin®(b—¢) +sin®bsin®(c —a)
+sin’c sin®(g-b)
=3sing sinb sinesin(a—b)sin(b~¢)sinlc-a).
cos®(a - x) + cos®(b - x) — 2cos(a - b)cos (g~ x)
xcos(b-x) (fLfE) .
(sin2a + sinda + sin6a)® - sin®2a — sin®4q — sin’6a
sin3a sinda sin5e cos?e cos2a




(LD .
L 1+ctga+ctg(45°—a) 2 6,20
. - =tg?2at A5 1+ a)e
72. Zsine cthacosZa—Z + 251020 & gl )

1°. &#EFX
i@ a=b+¢CH RiE:

. . . ., o b c
1. sinag+t sinb+ sinc = 4s1n —é—cos - cos—é—.
L

a b ¢
2. cosa + cosh + cosc =4C0S- cos—- cos—z——l.

3. sing+ sinb —cosc
c . R e\ . o b
=1 —4cos—é— s1n(45 - ?) sin (45 + ——2—)

4. tga+ctgbtctge= tgactgbctgce.

5. sin®ae+ sin?b+sin®c=2 (1~ cosacosbeosc)

§. cos’a+ costh + cos®c — 9cosacosbcosc =1.

B a+rbtrc = 12, K IE:

7. sing+ sinb+sine-1

, m— m-2b . m-2
=4sin———— S1 sin
4 4 4

8. sin%a+sin®b+ sin?c= 1 —2sina sinb sinc.

9. - ctge+ctgh+ctge= ctga ctgh ctge.
10. sinasinbcosc+ sing sinc cosb + sin
= cosg cosb cdsc.

7

b sinc cosa
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16.
17.

18.

19.
20.

21.

22.

(1 =sinb) (1 ~sinc)cosa |
+ (1 —sinc¢) (1 -sina)cosh
+ (1 =sing) (1 -sinb)cose
=cosa cosb cosc,
B’ a+ b+ =mu,RiE,
e -5

. . c
sing -+ sinb =2cos — cos .
2 2

sing+sinb _

c
—_——— = ¢ty —
cosa+ cosh & 2"
sinZg - sin®h = cos®b - cos’a =sin(a - b)sinec.

. . . a b c
sma+s1nb+sxnc=4cos—2— COSE cos?.

.. a . b ¢
cosg+ cosh + cosc=451n7 s1n? 51n—2—+ 1.

singsinbsine

cosa+cosb+cosc=1+ 2 — - —
sing+sinb+ sine

testoty Lctg S
ctg—+ctg — —
Egrcle pctg 2

_sing+sinb+sine a

—.sinb+sinc-—sina 2
cos2a+ cos2b+cos2c= -1 — 4 cosacosbcosc.

sin®a+sin% - sin% = 2sinasinbcosc,

. . . a b c
sin®a+sin®h+sin’c = 3cos > cos—z—cos -

+ cossacos isécos S
2 2 2°

a b c a b c
tg—+tg—-ctg —= - tg—tg— ctg—.

2 2 2 2 "2 2

ctg —.



